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Straight lines Ex 23.15 Q1

Distance of a point (x,,y,) from ax +by +c=0s
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Straight lines Ex 23.15 Q2
Equation of line passing through (cos4,sing) and (cos¢,sir@ \%
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Straight lines Ex 23.15 Q3
Line formed from Joining(acos«,asina) and (3cosg,asing)
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Then, the length of perpendicular
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Straight lines Ex 23.15 Q4 @3

acosg cot[

Let (h, k) be the point on the line 2x +11y -5=0
= 2h+11Kk -Sm 0= ==~ (1)

Letp and g be length of perpendicular from (h,k) onlines 24x+ 7y -20=0
and 4x -3y -2=0 30,
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24h+7k =20 4h-3k -2
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24h+7k -20 = 20h - 15k -10

4h =-22k +10

4(5 -1 ”‘] =-22k +10 [Using equation (1)]
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10-22k = -22k +10
LHS = RHS

So,

Distance 24x + 7y = 20 and 4x -3y — 2 =0 from any point on the line
2% +11y -5=01sequal.

Straight lines Ex 23.15 Q5
The point of intersection of two lines can be calculated by solw 0 L q(gssﬁons
/ N
N
Solving 2x +3y =21 and 3x - 4y +11= 0, we get the poi @@f&lon as £(3,-5)
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Straight lines Ex 23.15 Q6

2x-3y+14=0

Sichdy-7=0
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The point of intersection of the lines 2x—3y+14=0and 5

can be found out by solving these equat ons. \éjé’s )
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Therefore the equation of requiredline 1sy = oy

12x+5y =0
Perpendicular distance from (4,-7)to 12x+5y=01s
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Straight lines Ex 23.15 Q7

Any point on x-axis is (ta,0)
(xan)

Perpendicular distance from 3 linebx + a3y = ab is
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